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Z—wikZ> 4002 HeEeEF =2 |107-117| 100 150-200 EA-1000 O O BETRY | —
—vikZ> 4040 B =2 52-60 100 450-650 EA-2000 O O BEETRY | —
—vikZ> 4009 SRE]ELES =2 |107-117| 100 160-210 BA-1000 O O BETRY | —
—yikZ> 4010 BB =72 52-60 100 600-900 BA-2000 O O BEURY | —
—yik3> 3027 HEE#H# =1 43-49 100 |1,000-1,200| BA-2500 O O BEURY | —
—yik7> 164 BB =1 106-116| 100 120-170 HA-1000 O O BERARY | —
—wikZ> 4073 BB =1 53-60 100 350-650 HA-2000 O O BERARY | —
—wik7> 136 HEE A = 41-46 100 | 870-1,190 HA-2600 O O BERARY | —
—vik> 1004 KEERE| =2 39-47 100 600-900 DEA-2600 O O O BETRY | —
—yiks> 141 KEERAE| =2 |102-108| 100 160-240 | EA/BA-1100 O O BEURY | —
Zvik5Y 4042 B R =2 51-61 100 600-800 | EA/BA-2000 O O BETRY | —
—yikZ> 5018 BB =1 52-60 100 470-620 | EA/DEA-2000 O O BEURY | —
—vikZ> 5035 HEEH# =1 42-49 100 760-930 | EA/DEA-2500 O O BEURY | —
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